BAD example

has a class attribute as a local variable 

/**

* Explicit Value Constructor (for non-negative weights)

*

* @param pounds The number of pounds (must be positive)

* @param ounces The number of ounces (must be positive)

*/

public Weight(int pounds, int ounces)

{

Weight aWeight;

aWeight = new Weight(pounds, ounces, true);

}

/**

* Explicit Value Constructor

*

* @param pounds The number of pounds (must be positive)

* @param ounces The number of ounces (must be positive)

* @param positive true for a postive Weight, false for negative

*/

public Weight(int pounds, int ounces, boolean positive)

{

this.pounds = Math.abs(pounds);

this.ounces = Math.abs(ounces);

this.sign = 1;

if (!positive) this.sign = -1;

}

